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Summative Assessment I, 2011-2012

Subject : Mathematics

Time : 3 Hrs.] Class: X ~ [M.M.:80
General Instructions :
" (@  Allguestions are compulsory. _ '
(i)  The question paper consists of 34 questions divided into four sections A, B, Cand D. '
i Section A comprises of 10 questions of 1 mark each, Section B comprises of 8
1 questions of 2 marks each, Section C comprises of 10 questions of 3 marks each
: and Section D comprises of 6 questions of 4 marks each.
(i) Question numbers from 1 to 10 in Section A are Multiple Choice Questions where
you are to select one correct option out of the given four.
(iv)  There isnooverall choice. However, internal choice have been prdvided in 1 question
.of two marks, 3 questions of three marks each and 2 questions of four marks each.
You have to attempt only one of the alternatives in all such questions.
(v)  Use of calculator is not permitted.
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SECTION A/@UE 31

Question numbers 1 to 10 carry 1 mark each. For each of these questions, four
alternative choices are given, out of which only one is correct. Select the correct
choice. ‘ '
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The common root of the equations —x*—7x +10=0and x>~ 10x + 16 =0 s : ;

(a) -2 (by2 v (©3 @s -
TR 22 —Tx + 18: 0 3R - 10x + 16 ,=:0 H IS AT :
(a)—2 (b) 2 : ©3 @5
Which term of tﬁe AP.2],42,63,84, .......15210 7

@9% * (b0 (©) 11th (d) 12th
| 9. 21,42, 63,84, ....... 1 HE-T T 210 2

@l (b) 1031 (o Tiet (d) 128

In the figure, if O is a centre of acircle, PQ is a chord and the tangent at P makés an angle of
50° with PQ, then ZPOQ is equal to : ‘

{(a) 100° (b) 90° (c) 80° d)75°-
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(a)‘100° _ AD)90° | - () 80° ' (d) 75°

To draw a pair of tangents to a circle which are inclined to each other at an angle of 35°, itis
required to draw tangents at end points of those two radit of the circle, the angle between
~ themis: : '

(a)70" o ()11 (c) 1400 ’ (d) 145°
T 1 T.35%3h R T ﬁmm—wﬁmm%mwmwﬁwﬁﬁ

e S

mﬁm@ﬁaﬁaﬁq Gﬁm ......... aﬁmaﬁﬁﬁ%: “
(@7 (b) 110° (©) 140° (d)145°

. Iftwotangents inclined at an angle 60° are drawn to a circle of radius 3 cm, then the length of
each tangentis :

Y

33 o
(@) —zf— em (b)) 243 cem © 3V3 cm (d)6cm

| a2 3 cm 5o A1) 7 T 20 e Y e 60° % L g A, 1 v
wﬁ%@aﬁmﬁ% -

25 A
(afl) g cm (b) 2\[5 cm (€).33 cm . héTm

From a point A whiéh is at a distance of 10 cm from the centre O of a circle of radius 6 cm,

the pair of tangents AB and AC to the circle are drawn. Then the area of the quadnlateral
ABOCis: '

(a) 24 cm? (b) 48 cm? (096 cm? (d) 100 cm?
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(a)-24cm“ - ®48em® - (©%em? - @100cm®

If the area of three adjdcent faces of a cuboid are X, YandZ respectl ively, then the volume of
cuboidis :

@ XYZ (b)3XYZ (© VXYZ (A V3XYZ
@wwﬁwmaﬁ Fhe HAY: X, Y SR 2 %1 vy 1 snaa ¥

@x{ A(b) 3XYZ © JXYZ d) \/3XY

If the circumference and area of a circle are numericélly equal, then the diameter of the circle
18: '

w3 T ®2 ©4 (@) 2n

(wg- D2 ©4 W

A lamp post 5/3m high casts a shadow 5 m long on n the ground. The sun selevation at this
pomt is: .

(@)30° (b) 45° @6 C(@)90°
T _5y3 X 39 e T 0 T R o 5 e e ¥ g e wm
(a) 30° \(byE5° (@60 @9

In a throw of a pair of dice, the probability of getting a doublet is :
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Question numbers 11 to 18 carry 2 marks each.

v §& 11%‘18@@3&13#2311#@%

11.
12.

13.

15.

16.

17.

For what value of k does the equation x* + 2x + KR+1=0 has real and equal roots ?

;kﬁﬁ?ﬁm%mmﬁ+2x+k2+l-0$‘{HWHW%7

The nth term of an A.P. i 18 7 — 4n. Find its common dlffereme -
A AP 1 ndll 08 7 — 4n B, A Tl R @ B

In two concentric circles, prove that all chords of the outer circle which touches the inner
circle are of r::qual lengths.

fes T o 1 o o e 7 A el S < o o qaaﬁw;mfr%
THH =TS HI Bt &

: A '(3
The penmf,ter of a semicircular garden is 108 cm. Find the diameter of the garden <

AR SRR S 1 IRATT 108 em &, A S H1 G T FA

A sphere of maximum volume is cut out from a solid hemisphere of radius 6 cm. What is the
volume of the cut out sphere ?

T 6 Vmﬁwmﬁaﬁa@ﬁﬁﬁ@@ﬁwwm@mm%lmmﬁé
wwwmaﬁml e

Are the points (0 5), (0, —9) and (3, 6) colhnear ? Justify your answer.
w1 s (0, 5), (O,-9)3ﬁ'{(3,6)‘€ﬁ@'1%? amﬁwﬁgﬁzﬁmn
If the points A (4 3)and B (x, 5) are \on the circle with the centre O (2, 3), find the valuc of x.

s =% 0 (2, 3)a1@fqﬁuta‘n%|§A(4 3)ai’r{B(x 54, axwmaﬁaﬂm|
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18. Abag contains 5 red ba]ls and some blue balls. If the probablhty of drawing a blue ball from

the bag is thrice that of the red ball find the number of blue balls in the bag.

@@ﬁﬁsmﬁalam@%ﬁ%%l wﬁwéﬁﬁﬁ%ﬁaﬁmﬁaﬁmﬁﬁm ‘
OR/awﬁr'
There are 30 cards of the same size ina bag in which the numbers 1 to 30 are written, One-

cardi is taken out of the bag at radom. Fmd the probability that the number on the selected
card is not chvxslble by 3.

T 9 % AU SHR & 30 HE €, mwmsowm%n@mm
.%ﬁﬁmw;mmaﬁmﬁmwm3ﬁw|

SECTION C/@ve |

Question numbers 19 to 28 carry 3 marks each. |

T WA 19 A 28 T T WA 3 A ¢

19. Find the roots of the following quadratic equation using quadratic formula:
ab)'c2 + (b*—ac)x - be =0. |
et 1 <1 S m%s foreferfa fom TR T B
abx + (b2 - ac)x be = 0.
OR/3tgan

The sum of reciprocals of a child’s age (in years) 3 years ago and 5 years hence from now is

;-_ . Find his present age.
3ﬁﬁmﬁﬁm(aﬁﬁ)mwaﬁxmﬁswmméwww
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20. Find the sum of first 40 positive integers divisible by 6. ’
@ﬁymﬁg@@mﬂwaﬁ‘mﬁéﬁﬁm%l |
21. Froma pdinf P, two tangents PA and PB are drawn to a circle C (0, r). If OP =2r, show that
| AAPB is equilateral. '

‘ ,GNC‘(O,rj%%ﬁ%P@%WWWPAWPE@#{Tﬁ%IﬁﬁQP:Zr@ﬁ,fH@
1" i fF AAPB T wwang g ) ~

e

OR/3gan

In the figure? PQ and RS are two parallel tangents to a circle with centre O and another
tangent AB with point of contact C intersecting PQ at A and RS at B. Prove that
ZAOB=90°. |

A
v

<

fimt # PQ 91 RS, O 3 ot foeft o e &1 syt el Yo ¥ i et forg € et
?GT-AB;PQ@AWTRS_@BWWW%(WW%ZAOE=90°.
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Draw a triangle ABC in which AB =5 cm, BC=6cm and ZABC= 60° Construct a triangle-

similar to AABC using scale factor -_5;

T B1s ABC 91¢ f5@# AB = 5 cm, BC = 6 cm 3 ZABC = 60° %1 f0 AABC &%
THEY T 1 T #1 T i Safs el o6 ;5,- 0l

The wheels of a car are of diameter 80 cm each. How many complete revolution does each |

wheel make in 10 minutes when the car is travellmg ata speed of 66 km/hr ?

@wﬁmmwmmcm%mﬁ%w 66km/hra$ramﬁam‘é% @ 10
mﬁmqﬁmmﬁwmﬁ - |

From a solid cyhnder of height 12 cm and diameter 10 cm, a conical cavity of same height

- and same diameter is hollowed out. Find thie total surface area of remaining solid.

T A e Toraent g 12cma§zr amr‘rgamsarm,locm%,ﬁ@qmm@ama
TN ¥ 1 56 YRR G 1 S T S A 3 o v S % 9 §) 9 3
Fel 53 Al K HTS( |

OR/39ar -

A solid cyhnder of diameter 12 cm and height 15 cm is melted and recast into toys with the

shape of a right circular cone mounted on a hemisphere of radlus 3cm. If the height of toy is

12 cm, find the number of toys so formed.

T 39 9 F AW 12 cm 3R $9E 15 cm ¥ 39 frsemaR fadm s 1 e

R T U 1 & SR T g R T srien st ¥ AR fae e

12 om T STEW FH B 3 om A, 7 bR ) frel F e w A
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If the angles of elevation of the top.of a tower from two points at a distance of 4 mand 9m

from the base of the tower and in the same straight line with it are complementary, find the

height of the tower.

@Wésanmﬁ@k@m%@ﬁ4maﬂt9m§ﬁ§ﬁwmaﬁ§3ﬁﬁﬁm%
e & T o1 g o 1 R S R

Using distance formula, show that the points (3, 2), (0, 5), (-3, 2) and (0, —1) are the vertices

of a square.

0 1 A e e g 3, 2); (0, 5), (3, 2) 3R (0, =1) T o 5 v £

27, Find the ratio in which the line segment joining the points A (3,~6) and B (5, 3) is divided by

28.

' x—axié. Also find the co-ordinates of the point of intersection.

% ST K it 5w fagatl A (3, -6) SR B (5, 3) F e e Yeraws -39 J
fersform den 1 5 fervror forwg 3 Pl of a1 R

Three unbiased coins are tossed together. Find the pl;pbability of getting :

@) at ieast two heads | |

(i) | at mosf two heads. '

mmm@zﬁwﬁﬁ'@mamm{%t it wrenell 3 Wiuehar 9@ Hifw ;-
M %}1—#@ 3 e |
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Question numbers 29 to 34 carry 4 marks gach.
W9 WEAT 29 | 34 dch YA UI 4 ekl &7 §)

A car covers a distance of 90 km at a uniform speed. Had the speed been 15 knvhr more, it

would have taken 30 minutes less for the journey. Find the original speed of the car.

T R T T 9 90 ke 1 0 7 R 1 7 A 15 kandhe 0 86, 0 7

A T 30 FTe A T | FR FT ARG A T DI

OR/3rgar
A two digit number is such that the product of its digits is 18. When 63 is subtracted from the

numbéf the digits interchange their places. Find the number.

ﬁmaﬁﬁwm%aﬁaﬂmls%mﬁ:mﬁﬁﬁmm qr yra g
qﬁmﬁm%mﬁwmﬁ%mmm%w@fﬁlaﬁmmmu

360 bricks are stacked in the following manner : 30 bncks in the bottom row, 29i in the next

31.

TOW, 28 in the row next toitand-so on. In how many rows are the 360 bricks placed and how

many bricks are there in the top row ? ,

360 2 1 0 3 T & 39 yHR T T Y ¢ o A el i d 30.42, Sw sveh i
%29 €, sod srelt i # 28, 3enfz ) 7 360 £ foraht dfre § vt 1E.E qu v I
Fi i H R 87

Prove that the length of tangents drawn from an external point to a circle are equal.

fag e for ot forg ¥ 90 T Sl 718 el Yaet] 1 oAl Se At €
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- 32. Arightcircular cylinder container of base radius 6 cm and height 20 cm s full of ice cream.
Theice creamis to be filled in cones of height 10 cm and base radius 3cm, having a semispherical ‘

top. Find the number of cones needed to empty the container.

@6cmm.ﬁ20cmﬁﬁﬁmmwﬁwmwmﬁww
T ¥ 1 9 TG B 10 cm $E 71 3 cm o A viopai 3 sk i %, o S
Rt s 1 gl i a0 91, 1 3 o

< - -

< N
OR/31gar (/ﬂé

Water is flowing at the rate of 15 km/hr thrbugh a pipe of diameter 14 cm into a cuboidal pond

which is 50 m long and 44 m wide. In what time the level of water in pond rise by 21 cm ?

T FTAHR T 1 ST 14 cm ¥ 701 798 T B o 15 k/hr ¥, S 26 50 m @

3R 44 m%ﬁgwwmimﬁ_m@?lm‘ﬁwaﬁmﬁmmhmw2“1 cm 39

B STwn ?

33. ‘Afriction clutch in the form of a frustum of é cone as shown in figure. The diameter of top and

bottom base are 20 cm and 32 cm. Its heightis 8 cm. Find its lateral surface and volume.

20 cm N

W
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34, Theangle of elevation of a jet plane fromapoint A on the -grdund is 60°. Aftera fhght of 30
seconds the aiigle of elevation changésilo' 30°. If the jet plane is flying at.a constant height of
36003 m , find the speedof the jet plane.

TH S TR SR 1 -7 T e wh frg A ¥ Rl g i 60° 71 AR 30
. mmmmmwmwmﬁm%w%mwww '
3 36003 m R 35 @ 9, AT T WA T F I
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